IS 441 Data Modeling Homework
Please follow the “Official Homework Requirements” right on top of the class schedule.

Use Microsoft Visio or any other drawing software to develop the ERDs for all ERD HWs.
Problem 1 (3 points). – Please follow the format of the entity definitions on P.58 of the text.
Define one of the entities as given below, according to your last name:

A~D: A business meeting inside a company; 
E~N: A conference of a professional association;

O~Z: A local political meeting (of supporters). 
Feel free to make reasonable assumptions.


Comments:

1) Very few “followed the format on P.58” as clearly instructed above.

2) Some talked about BUSINESS, AFFAIRS, etc that were NOT asked in the problem.

3) Mistakes found:

a) A few defined wrong entities: for example, some ones, when asked to define a professional conference, defined PROFESSIONALs who attend the conference.

b) Some defined an entity INSTANCE rather than the entity (type) as required. Example: ISACA conference.

c) Some mistook the attributes of a lower-level entity (a different entity) for the attributes of the entity in question. Example: for CONFERENCE, some listed “Registered attendees” as an attribute, for which I commented: “Just like in a UNIVERSITY entity, you will NEVER see the attribute Students” – a basic mistake warned not to make on Day 1.

d) Careless ness in reading the problem: for “local political meeting (of supporters)”, it is clear that the contents in the parentheses served as a note, telling/reminding people that the MEETING here is not one of the candidate’s top aides, or some kind of committee(s), but the meeting of supporters. So the entity to be defined is MEETING. However, 3-4 students tried to define “SUPPORTER” which was NOT asked. – lesson: PLEASE read the question with minimal necessary care. I believe that if one reads the question in 30-60 seconds rather than in 5 seconds, one would not make the above UNnecessary mistake.
4) Contents of the definition:

Last name falls between A~D, most did not provide a complete definition of an internal meeting – for example: “An internal business meeting is (what), for (what purpose), attended by (whom), held at (what kind of time intervals), held in (what type of venues), etc”.  
The other two last name groups: make logical inference of the structure of your definitions.

5) Best performers: Francisco Cisneros, Christian Castillo, Vladimir Estrin, William Flores, Martin Mendoza, 
Problem 2 (7 points). 
Business rules, and ER diagram with cardinality. (TWO E-R diagrams for this problem)
(1) Create business rule(s) for the given business scenario. Please follow the format of definitions and the statements of business rules on PP. 58-59. You are FREE to make YOUR OWN assumptions – clearly state your assumptions. Remember: for each relationship, you need to state from both directions.
(2) Based on the rules, create the ER diagram (ONE diagram reflecting and containing all rules).

(3) Then make a/some change(s) in the assumptions that will lead to change(s) in cardinality (or even the relationship), and create the revised ER diagram.

	Business Scenario
	Last Name

	1. CUSTOMER books RENTAL-CONTRACT, CAR is rented in RENTAL-CONTRACT
	A~B

	2. DRIVER receives CITATION, POLICE issues CITATION
	C~F

	3. BUYER buys HOME, AGENT sells HOME
	G~L

	4. STUD-ORG makes BOOKING (of ROOM), ROOM is booked in BOOKING.
	M~P

	5. （Library）PATRON has CHECK-OUT, BOOK appears in CHECK-OUT
	Q~Z

	TUTOR has APPOINMENT, STUDENT comes to APPOINTMENT – for exercise, don’t turn in.


Language problems – there were a few students who did not even write a single correct sentence.

Logic problem: business rules conflict with ERD.

Format/basic notation/jargon problem: “Many police may issue zero or many citations” – in ERD one must always begin a business rule with “A/ANY/EACH entity instance of entity A”, such as “a policeman may issue…”, “a citation must be issued by …”, “a driver may get…”, etc.

Best performers: Ken Augusta, Christian Castillo, Jeffry Dikit, Ryan Dixon, William Flores, Meghmik Gharakhanian, Jonathan Goldstein, Robert Jong, Rowell Lapena, Renzhi Liu, Martin Mendoza, Alexander Novac, Justine Poblete, 
Problem 3 (5 points). 
Create one E-R diagram for the three entities given in the following, with attributes (given in a simplified manner): 

(1) CONSULTANT …(2) CLIENT – …(3) PROJECT – ….
Problem 3 (5 points). 

Chapter 2, end of chapter “Problems and Exercises”: 17e 
Best performers: 
Jameson, Heredia, Kaur, Mendoza, Miksaghi, Mohammmed Ali Al Ssarraf, Dhruv, Novac, Perez, Poghosyan, Sarukhanova, Vu, Williams, Youssef
Read the book, read the book, read the book: closely





This is a class intensively involved with logic; treat it as a math class: read be4 class, participate in class, and review intensively after class.





Instruction ignored by most people.





Need to get your way of viewing/thinking and statement formats tuned to those of the discipline of DB. Read, and read closely








